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QUESTION 1

An Oracle database is stored on an EMC VNX storage array and replicated to a second VNX array at a DR location.
EMC RecoverPoint is providing the replication. The customer is currently using a single Consistency Group for the
Oracle database. 

What would you recommend the customer do to ensure optimal recoverability? 

A. Create three Consistency Groups: (1) data files and undo logs; (2) online redo logs; (3) archived redo logs and
control files 

B. Create two Consistency Groups: (1) data files, control files, and undo logs; (2) online redo logs and archived redo
logs 

C. Keep the single Consistency Group containing data files, undo logs, online redo logs, archived redo logs, and control
files 

D. Create two Consistency Groups: (1) data files, online redo logs, undo logs, and control files; (2) archived redo logs 

Correct Answer: A 

 

QUESTION 2

In reviewing a nar analysis, what does workload skew measure? 

A. How much of the storage is handling the bulk of the workload 

B. The percentage of data that would be demoted from FAST Cache 

C. The distribution of the active data on the backend disks 

D. The percentage of data that has been moved to the Extreme Performance Tier 

Correct Answer: A 

 

QUESTION 3

What is the maximum combined host target queue depth that can be accepted on a VNX SP port before a QFULL
condition occurs? 

A. 1599 

B. 2047 

C. 1023 

D. 1199 

Correct Answer: A 
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QUESTION 4

A VNX storage system is being configured to provide storage for an Exchange 2010 implementation for 2,000 users.
iSCSI will be used for connectivity between the servers and the array. Each server has two, dual-ported NICs. Based on
EMC best practices for availability and redundancy, how should the interconnectivity be configured? 

A. Configure each iSCSI NIC to two iSCSI ports, one on each SP. 

B. Configure both iSCSI NIC to all four of the available iSCSI ports on the array to ensure maximum throughput and
fault tolerance. 

C. Configure each server NIC to both ports on the SP and enable link aggregation to increase throughput. 

D. Configure one NIC to SPA and the other to SPB and install EMC PowerPath to enable load balancing and failover 

Correct Answer: A 

 

QUESTION 5

What is a restriction for the High Bandwidth option for classic LUNs? 

A. Only supported for RAID 5 4+1 . 

B. Recommended for FLASH drives. 

C. Limited to VNX File OE LUNs. 

D. Only supported for RAID1/0 4+4. 

Correct Answer: A 
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